Wolfe Waves
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Rules for Bullish Wolfe Wave Structure  

By starting with a top we are assured of beginning our count on a new wave: 
· The point 2 is a top.  
· The point 3 is the bottom of the first decline. 
· The point 1 is the bottom prior to point 2 (top), that 3 has surpassed. 
· The point 4 is the top of the rally after point 3, is greater than point 1 but less than point 2.  
· The point 5 is the bottom after point 4 and must exceed below the extended trend line of 1 to 3. 
· This is the entry point for a ride to the EPA line (1 to 4).  
· Estimated Price at Arrival (EPA) is trend line of 1 to 4 at apex of extended trend   line of 1 to 3 and extended trend line of 2 to 4.  
· Estimated Time of Arrival (ETA) is apex of extended trend line of 1 to 3 and 2 to   4.  
· Trend line of 1 to 3 and trend line of 2 to 4 must converge.
· Point 5 must be below the extended trendline of 1 to 3, but above the extended Parallel line of 2 to 4 which starts from point 3.
· When counting the bars on the chart from left to right, at point 5 or candle that comes before point 5, the volume must be equal to or above 1.2 times the 50EMA applied to the Volume indicator.
· Price must close above the extended trendline of 1 to 3 at point 5 and the candle at point 5 must be bullish or if the candle at point 5 fails to close above, a bar after point 5 must close above the extended trendline of 1 to 3 and the candle must be bullish



Signal
If all bullish conditions are met, the following must take place:
· Draw the wave from point 1 to 5
· If all conditions were met on the candle at point 5, an up arrow must be drawn at the opening of the next candle of if all conditions were met a bar after point 5, an up arrow will be drawn at the opening of the next candle
· Draw extended dotted trendline 1 to 3 to where it meets with trendline 2 to 4
· Draw extended dotted trendline 2 to 4 to where it meets with trendline 1 to 3
· Draw extended dotted trendline 1 to 4 to where trendlines 1 to 3 and 2 to 4 meet
· Draw extended dotted trendline parallel to 2 to 4 from point 3 to where trendlines 1 to 3 and 2 to 4 meet 
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Rules for Bearish Wolfe Wave Structure  

By starting with a bottom we are assured of beginning our count on a new wave:  
· The 2 point is a bottom.  
· The 3 point is the top of the first rally.  
· The 1 point is the top prior to point 2 (bottom), that 3 has surpassed.  
· The 4 point is the bottom of the decline after point 3, is less than point 1 but greater than point 2.  
· The 5 point is the top after the 4 point and is likely to exceed the extended trend   line of 1 to 3. This is the entry point for a ride to the EPA line (1 to 4).  
· Estimated Price at Arrival (EPA) is trend line of 1 to 4 at apex of extended trend   line of 1 to 3 and extended trend line of 2 to 4.  
· Estimated Time of Arrival (ETA) is apex of extended trend line of 1 to 3 and 2 to 4.
· Trend line of 1 to 3 and trend line of 2 to 4 must converge.
· Point 5 must be above the extended trendline of 1 to 3, but below the extended Parallel line of 2 to 4 which starts from point 3.
· When counting the bars on the chart from left to right, at point 5 or candle that comes before point 5, the volume must be equal to or above 1.2 times the 50EMA applied to the Volume indicator.
· Price must close below the extended trendline of 1 to 3 at point 5 and the candle at point 5 must be bearish or if the candle at point 5 fails to close below, a bar after point 5 must close below the extended trendline of 1 to 3 and the candle must be bearish









Signal
If all bearish conditions are met, the following must take place:
· Draw the wave from point 1 to 5
· If all conditions were met on the candle at point 5, a down arrow must be drawn at the opening of the next candle of if all conditions were met a bar after point 5, a down arrow will be drawn at the opening of the next candle
· Draw extended dotted trendline 1 to 3 to where it meets with trendline 2 to 4
· Draw extended dotted trendline 2 to 4 to where it meets with trendline 1 to 3
· Draw extended dotted trendline 1 to 4 to where trendlines 1 to 3 and 2 to 4 meet
· Draw extended dotted trendline parallel to 2 to 4 from point 3 to where trendlines 1 to 3 and 2 to 4 meet 
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